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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
Find the mean of the given probability distribution.
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Solve the problem. ,
2) In a game, you have a 1/42 probability of winning $67 and a 41/42 probability of losing $7. Whatis  2) D

your expected value? :
A) $8.43 B) -$6.83 C) $1.60 @
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Assume that a procedure yields a binomial distribution with a trial repeated n times. Use the binomial probability
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formula to find the probability of x successes given the probability p of success on a single trial. C
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A) 0.0039 B) 0.0231 C) 0.0154 D) 0.0116
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Find the standard deviation, o, for the binomial distribution which has the stated values of n and p- Round your answer
to the nearest hundredth. D
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A) 0 =567 B) o0 =-0.01 C)o =652 @
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Find the mean, p, for the binomial distribution which has the stated values of n and p- Round answer to the nearest T
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